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Q1/Q2.. How important do you think the following elements are for a company to be able to innovate successfully?

(Grades from 8to 10) Base: Global results N= 3,209
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Q1/Q2.. How important do you think the following elements are for a company to be able to innovate successfully?

(Grades from 8 to 10) Base: Country results N=100-300 per market / Base Japan N= 100
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Q1/Q2.. How important do you think the following elements are for a company to be able to innovate
successfully? (Grades from 8 to 10) Base: Country results N= 100-300 per market / Base Japan N= 100 13
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Q1/Q2.. How important do you think the following elements are for a company to be able to innovate successfully?

(Grades from 8 to 10) Base: Country results N=100-300 per market / Base Japan N= 100 14
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Q1/Q2. How important do you think the following elements are for a company to be able to innovate
successfully? (Grades from 8 to 10)
Base: Country results N= 100-300 per market; Japan results N = 100
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Q1/Q2. How important do you think the following elements are for a company to be able to innovate
successfully? (Grades from 8 to 10)
Base: Country results N=100-300 per market / Base Japan N= 100 16
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Q1/Q2. How important do you think the following elements are for a company to be able to innovate successfully? Base: Japan N= 100
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Q3. To what extent does your company currently perform against these success criteria? Based on those who said it was a critical factor (8-10)
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Q3. To what extent does your company currently perform against these success criteria? Based on those who said it was a critical factor (8-10)
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Q4-1&2. Now we are going to present different views on the ideal innovation process, we would like you to pick the one you
feel is the truest or the most relevant in driving successful innovation. Base: Global results N= 3,209; Japan results N= 100
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Q4-1&2. Now we are going to present different views on the ideal innovation process, we would like you to pick the one you
feel is the truest or the most relevant in driving successful innovation. Base: Country results N= 100-300 per market / Base 21
Japan N= 100
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Q4-3. Now we are going to present different views on the ideal innovation process, we would like you to pick the
one you feel is the truest or the most relevant in driving successful innovation. Base: Country results N= 100-300 23
per market / Base Japan N= 100
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Q4-4. Now we are going to present different views on the ideal innovation process, v(\’fé would like yof?to pick the
one you feel is the truest or the most relevant in driving successful innovation. Base: Country results N= 100-300
per market / Base Japan N= 100 24



A IN—>32 DIEB R

Q4 A IN—3VEMINESEDEDICE TUIEDEDEIEANTSEZEL,

RS2 FEEIE B STEZ IR EL TS, | KA AVRRIPHIO
BRETIE.SADIAL

[ N—23y BT EBAT BEDC. BRSENDEY e

BN ESHER A N—SS BT D EDIIEIRNT @ L
FBV BRI RN LS ESBNSE. | g L TORARETS

[EAEEEFCHBIZREFEZREL ALV BRE
[FDVIa—3VERFEL TUILLDSE, |

100%
90%
80%
70%
60%
50%
40%
30%
20%
10%

0%

(=]
N X
= »
i —
(=]

N N

(=
S
~

(=}
>
©
~N

19%5%

¢ @ DD LSO

. O v o N
> ) N N
& N O & L O NS SN
Q}) (Jo \Q \0A (J 0(\ QOQ Q} ,\& %$® ?\Q N
N

Q4-6. Now we are going to present different views on the ideal innovation process, we would like you to pick the one
you feel is the truest or the most relevant in driving successful innovation. Base: Country results N= 100-300 per 25
market / Base Japan N= 100
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Q5. Do you consider any of the following as key challenges killing your business’s ability to innovate efficiently?
Base: Global results N= 3,209
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Q5-2. Do you consider any of the following as key challenges killing your business’s ability to innovate efficiently?

Base: Country results N= 100-300 per market / Base Japan N= 100
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Q5. Do you consider any of the following as key challenges killing your business'’s ability to innovate efficiently? %

Critical challenge
Base: Global results N= 3,209 / Japan N= 100
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Q6-2&1. Would you say that you strongly agree, somewhat agree, somewhat disagree or strongly disagree with the
following opinions? Base: Global results N=3,209. Base: Country results N= 100-300 per market / Base Japan N= 100
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Q6-3. Would you say that you strongly agree, somewhat agree, somewhat disagree or strongly disagree with the
following opinions? Q10-4. Thinking about your country in particular, how far do you agree with the following
statements? There is a strong fear that technological innovation will increase inequalities. Base: Global results N=

3,209 / Base Japan N= 100
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Q7. Who do you think is driving innovation the most today in your country? Base: Country results N= 100-300
per market / Base Japan N= 100
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Q7. Who do you think is driving innovation the most today in your country? Based on businesses for which
a country over-indexes compared to global average Base: Country results N= 100-300 per market
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Q7. Who do you think are driving innovation the most today in your country?
Base: Global results N= 3,209
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Q7. Who do you think are driving innovation the most today in your country? Base: Country results N=100-300

per market / Base Japan N= 100 a
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Q8. What is THE country that you consider to be the leading innovation champion? Base: N= 3,209 / Open- ended
question 35



A/ RN—2 3 D DBERKIREH

Q9 BEHICHITDAI/N—T+T IFIRIEF
(10FPEEPID- LHT4BE DS BIEIR)

@ ® (3 O ® O

88% @

84%82%

70%
66%
6L961%_
0579%
56%; 10,
49%
*A7%469646%450/,
41%
37%

28%
027%27%25%25%

23%
18%18%1 704

14%12%

5% 49

2%

© CQ(PQ

QX O 0O 0. 00 2 @ O 9O QWO O L N D0
F S T S S S F S E S T
2 ¥
P

(DQ’

Q9. For each of the following markets, how far would you say that they have developed an Innovation-conducive environment?
Base: N= 3,171/ Note: % of respondents that have given a grade superior or equal to 7/10
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Q9. For each of the following markets, how far would you say that they have developed an Innovation-conducive environment?
Note: % of respondents that have given a grade superior or equal to 7/10 to their own country Base: Country results N= 100-300 per 37
market / Base Japan N= 100
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Q9. For each of the following markets, how far would you say that they have developed an Innovation-conducive
environment? Base: N= 3,171/ Note: % of respondents that have given a grade superior or equal to 7/10

38
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Q10-1. Thinking about your country in particular, how far do you agree with the following statements? Private
investors are supportive of companies that need funds to innovate. Results for top 2 boxes (somewhat agree + 39

totally agree). Base: N= 3,209 / Base Japan N= 100



Q10 EIaBICDWTEDSEB DD

(4ERPSETAT - EHI2IEBEDSHEIEIR)

[FANBYEA IN—2 3V IR FFZSIESE I D TIIED Ed<ZTI D

KYZEEZAY  (over-indexing) &YEEFAY  (under-indexing)
100%
90%
80% 152 06 70%
70% ° 0 67% 66% 65%
60% 56%
0 251509 49% 4704 4701
50% 070 46% 45% 430
° 419 41% 3904 399 574
40% 37% 36% 36%
31% g,
30% 24% 2106
20%
o I
0%
@ ¥ ¥ O L0 & P& @S RS OO DO LD
O N ¥ P OO OSSN S N T R N S SO N
R NS L SR SR SN T g S S G SN O O P
& XS S S N d RS SRR
) 89 NS e

Q10-4. Thinking about your country in particular, how far do you agree with the following statements?
There is a strong fear that technological innovation will increase inequalities. Base: Country results N= 100- 40
300 per market / Base Japan N= 100
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Q11-2. Thinking about the policies and actions undertaken in your country by the government and public

authorities, how far do you agree with the following statements. Government support for innovation is efficiently

organized. Results for top 2 boxes (somewhat agree + totally agree).

Base: N= 3,209 / Base Japan N= 100 41
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Q11-3. Thinking about the policies and actions undertaken in your country by the government and public authorities, how far
do you agree with the following statements. Public authorities do not support SME’s in their innovation efforts enough. Results
for top 2 boxes (somewhat agree + totally agree). Base: N= 3,209 / Base Japan N= 100
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Q12. What are the main priorities your country should focus on to efficiently support innovation? Global average.
Results for top 2 boxes (critical priority & important but not critical priority). Base: N= 3,209 43
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Q12. What are the main priorities your country should focus on to efficiently support innovation? Global average.
Results for top 2 boxes (critical priority & important but not critical priority). Base: N= 3,209
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Q12. What are the main priorities your country should focus on to efficiently support innovation? Average number of critical
priorities per country out of 12. Base: Country results N=100-300 per market / Base Japan N= 100
45
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Q12-8. What are the main priorities your country should focus on to efficiently support innovation? Ensure that business confidentiality
and trade secrets are adequately protected. Results for top 2 boxes (critical priority & important but not critical priority).

46
Base: Country results N= 100-300 per market / Base Japan N= 100
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Q12. What are the main priorities your country should focus on to efficiently support innovation? Average number of critical
priorities per country out of 12. Base: Country results N= 100-300 per market / Base Japan N= 100 47
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Q12. What are the main priorities your country should focus on to efficiently support innovation? Average number of critical

priorities per country out of 12. Base: Country results N=100-300 per market / Base Japan N= 100
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Q12-10&11. What are the main priorities your country should focus on to efficiently support innovation? Global
average. Results for top 2 boxes (critical priority & important but not critical priority). Base: Country results N= 100-
300 per market / Base Japan N= 100
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Q13. Which of the following apply in your company? YES Base: Country results N=100-300 per market / 50

Base Japan N= 100
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Q13. Which of the following apply in your company? YES Base: Country results N=100-300 per market / Base
Japan N= 100 51
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Q13-2&3. Which of the following apply in your company? Base: Sectors — Min n=140 — Max n=469 52



4/ X—=2 3 VDR &Rk

Q14 BrDERICKVIELNEDIE?

The facts

HHADES R \—bF—EDISML

—33VEBEZ LRI ER. s ?\?égﬁtfgfliﬁ“ 50%
B2 FDURDIH DD BB LD L FlER
FZDIETIENLE
BRI FTLN AT 172
o PTEALTREREFDH
A IN—3VERINESE N . 29%
PODESEBRRED Bnoaitlg  HNORERECA—TIAIN i
U2D\FENB BN DS z3gAR=T —YIVEEVEATD
[0
FDEHIEI TleA /-3
VEEIDEDICFIERRED
ARUETIRBIT IL—THS
DISE (PAF 7. 7Y,
830/ BEBRBE)EDIORY—T
. 2FE-oTLND

Q14. Which of these two statements is closer to your opinion?
Q13. Which of the following apply in your company? Base: 53
Global results N= 3,209 / Base Japan N= 100
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Q15-3. Are you familiar with the following notions? Big data Base: Country results N= 100-300 per market /
Base Japan N= 100
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Q15. Are you familiar with the following notions? Base: Global results N= 3,209 // Q18-1. Now we are going to
present different views on these emerging trends, we would like you to pick the one you feel is the truest or the most
relevant. Base: Global results N= 3,209
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Q17.Is your business already equipped with a strategy or process to make the most of...

Base: Global results N= 3,209
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Q18-2. Now we are going to present different views on these emerging trends, we would like
you to pick the one you feel is the truest or the most relevant. Base: Global results N= 3,209
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Q18-2. Now we are going to present different views on these emerging trends, we would like you to pick the
one you feel is the truest or the most relevant. Base: Country results N= 100- 300 per market / Base Japan N=
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Q19. Do you believe in the importance of data sciences and analytics in enabling innovation? By “Data sciences
and analytics”, also often referred to as “Big data”, we mean the ability for a company to use analytics to create
strategic knowledge from large and complex datasets. Base: Global results N= 3,209 / Base Japan N= 100
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Q20. Has your company increased its ability to analyze large and complex amounts of data over the last year? (% Yes)
Base: Country results N= 100-300 per market / Base Japan N= 100
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Q20. Has your company increased its ability to analyze large and complex amounts of data over the last year? (%
Yes) Base: Sectors — Min n=140 — Max n=469 / company size: <100 employees N= 907; 101-500 employees N= 1045;
501-1,000 employees N=588; >1,000 employees N= 669
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